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11.2 Area of Circles and Sectors

Find the values of x and y without using a calculator. Write

your answers in simplest form.

3 ?;,:L\, \T\;F—Q;. ,\\ Y = ? /2_ |

Area of a Circle
The area of a circle 1s

A= 7r?

where ris the radius of the circle.

Video: Deriving Area of a Circle

Find the indicated measure. Provide your answer m terms of
LI and rounded to the nearest hundredth. ' o

1. radius of a cwcle wi h an area of 1OO1T square miles
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2, dlameter of a circle with an area of 42 square meters
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Find the indicated measure. Provide your answer in terms of pi
and rounded to the nearest hundredth.

a. cnrcumference of a circle with an area of 25 square centimeters
A=wet [r=[13 ¢ =2ty
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b. diameter of a circle with an area of 3611 square centimeters
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c. area of a circle with a circumference of 121 meters.
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d. circumference of a circle with an‘area of 811 square feet.

2 =t U 1%

X X SATGA I
AL r - \ -
Q'W’\ ¢ C =W & = (6,506 |

The populuation density of a city, county,
or state is a measure of how many people
live within a given area.

Number of People
Area of Land

Population Density =
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a. About 430,000 people live in a 5-mile radius of a city’s town hall.
Find the population density in people per square mile.
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b. A region with a 3-mile radius has a population density of about
6195 people per square mile. Find the number of people who live

in the region.
A= Llds =/ X
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3. About 58,000 people live in a region with a 2-mile radius. Find the
population density in people per square mile.
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4. A region with a 3-mile radius has a population dehsity of about
1,000 people per square mile. Find the number of people who live

in the region.
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A sector of a circle is the region bounded by two radii of the circle and
their intercepted arc.

Find the area of each shaded circle or sector of a circle.

a. entire circle b. one-fourth of a circle
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c. seven-eighths of a circle d. two-thirds of a circle
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Area of a Sector

The ratio of the area of a sector of a circle to the
area of the whole circle (772) is egnal to the ratio
of the measure of the intercepted arc to 360°.

Area of sector APB mAB

rrl ~ 3607 °
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Find the indicated measure.

1. area of sector UTV. * /”_U WS i
CRintvo [ 3
X \/ 10 O ) {Q

GO

3WOX = QOL(rr(”lo)
200 Tagn,

TYE3T DlE ;

2. area of red sector (sector F
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Find the area of ®V.
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A rectangular wall has an entrance cut into it. You
want to paint the wall. To the nearest square foot,
what is the area of the region you need to paint?
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1. Find the area of OH. 2. Find the exact area of the figure.

A = 21437 cm? .
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Homework
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